# O K

S=1:100
5=1:250 SeLg
GH=225. 54
(LS ISR ($) 108, bn ‘
4 $) o . 8om
R z
L= 0.6
E FUBREET s 23
2355 G 08
+223.60
DL=225. 00
S o~ 2
== e
©225.97 <
7% 48 0&:%02: 22 2636 T A A AT <l
226.12
229.75%
B = 0.1
C(SE)= 1.3
ESE)= 1.1
Fu()= 0.8
K(SE)= 0.7
w w [%2]
58 B 8
i Eug
J0y Y iEkEE
1 13
S— 7 — BT EER| | ook | Ry EER SECT. 4
R& X Y H - —0. — —_—
T1 I 100.000 100.000 |  225.240 L=1.7m L=1.8m (H=224. 65
1.2 | 71.164 104.161]  226.282 12/01ET 22,8 OikT
L= 0.3
SLl= 2.2
G= 0.7
1
| <o) ﬁ
E Eﬁ ’ - —7
$=1:100 h eed/
& 23
158 % S
1.8 8.0 1.7 DL=220. 00
4.0 4.0 B -0l
C(SE)= 1.8
.°_° :“ E ESE)= 1.1
2 2 2 Fu()= 0.7
7] ) = K(SE)= 0.7
ClERZE (AIZ) < <
s =3 s S =
Il = Es %
SECT. 0
s ) — CHo09E 04
T8y iEEE XigaAvo)—Fk GH=225. 24
v o =
ol [ ‘ﬁ‘ o | L= 0.4
al |l — N
Al |» ] _ |= SL= 2.0
L, _ Z 8 & G 0.6
BT Wit T
(BEHI) HERT (HREHEI) 5
28/ OIET a o 7 i
H=2. 60 17—7/]_\!]1]:1 g ﬂ
3.1 3.7 H=2. 40 o —F
1.3]48 7.4 4812 = Eed/
0.5 0.5 iooa
C(SE) : fEHI (E L)
B L (BELiE2. SmKiE)
E(SE) : FRIE(BEL)
Fu(D) : #BRE (BRIE!. OmK i) DL=220. 00 B = 0.1
K(SE) @ EEEE (MEL) C(SE)= 1.3
SL : JaviHER ESE)= 1.1
G EARA Fud= 0.7
Lo (SE) : tItikmER (MEL) K(SE)= 0.7
L %@ET

i

JoyIHE

H=

2.2

7[:] w o+ {7k BE
$=1:100

®Iovy &%,0

W@

=

RC-40
WAoo U—+
o ck=18N/mm2

RAavy)—+t
o ck=18N/mm2

HERINBRELF(FL

AT
$=1:20
avy)—+t
o ck=18N/mm2
o
8
8J\_
S
10ms Y
B 5 BB |BEE &% &
av41)— k| ock=18N/mm2| m3 1.14

S # INEUEREY | m2 4.00
HEERE  |RC-40, t =100 m2 7.20

Xigaroy)—+

15/h0O1ET

$=1:100
Fj 300
= > =
S i S
oN| oN|
E Al Bow (B B 2

av4 1) — k| ock=18N/mm2| m3 0.67
kS B MEEEY | m2 4.45
By | MEBEY | m2 0.78

25/h0O1ET
$=1:100
808 300

2600
2600

1068

B oA BB |BEE| &% &
3> ) — k| ock=18N/mm2| m3 0.73
BB | MEBEEY | m2 4.88
R | MEBEY | m2 0.84

$=1:20
X3 o) —k 808
o ck=18N/mm2
{
g
!
w
S 18
e
10n Y
B oA ROK R &% &
3> ) — k| ock=18N/mm2| m3 0.81
R | DMEEEY | m2 1.08
BB | MEBEEY | m2 1.04
AEIH)—F
$=1:20
10m Y
# Al BROoK|BEE] &% B
a9 1) — k|ock=18N/mm2| m3 0.25
B8 | MEBEY | m2 1.40

Bt
(gmw) Y

#AH (p350M45)

TE=AEE W=3. 0m)

(%&ﬁ**ﬁ) $=1:100
3000
kiR
v t=22mm

AL

£
G

RAS>o)—+
0 ck=18N/mm2

" [mEHTs |
5 TR TE

& IHEE 20

MEET1055H EBRKEEBIE

IH# SRmEAN A
BE4 % E
REARE S48 A

R B = ‘@E%% I
214 BREILHLE LBt

BEEA

= Rr L



